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Quiz 2
Show your work!

4/‘“5 1. Find parametric equations for the line going through the point (—8, —6, —3) and perpendicular to
the plane 9z + 5y + 5z = 16.
7’9“5. 2. a). Find a (simplified) component equation for the plane that contains the point Py(1,—3, —6)
and is orthogonal to the line given by:

Litz=14ty=-3—4t z2=4t.
b). Is the plane in part a). perpendicular to the line:
Lyz=2+4t;y=1;,2=—-6—17

V,‘s Justify your answer.

" 3. Given the curve:
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find dF/ dt-

’6‘5‘5 4. Find:
/02 [(2t65t2) i+ (™) i+ QE] dt.
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